


DG18BL‐125S

LEVEL NO.
PART 
NO.

PART NAME SPEC. UNIT LPK Q'TY

1 01 2070193 DUST COVER(R),DG18BL‐100S [防尘罩（右）] NBR EA 208 1

1 02 2405156 +PAN HD TAP S PW M4*18 [螺丝] M4 *18 BLACK 2型 EA 208 5

1 03 2110746 HOUSING(R,BROWN),DG18BL‐100S [机壳 棕色] 18V 125MM EA 208 1

1 04 2110211 S/W KNOB(BLACK), DG‐850 [开关按钮] POM BLACK EA 208 1

1 05 2400015 +PAN HD M/C S and SW M4*18 [螺丝] M4*18 ,SILVER EA 208 1

1 06 2110083 PUSH BUTTON DG‐100H [按钮] BLACK, NEW型 EA 208 1

1 07 2030498 LOCK SPRING DG18BL‐100S [锁定压簧] PW2 镀铬 EA 208 1

1 08
L204001

8
GEAR COVER(SILVER) DG18BL‐100S [齿轮盖] ALDC,带螺纹 C1.0 EA 208 1

1
09,1
0

2030038 LOCK PIN DG‐100H [止动销] 45,NEW型 EA 208 1

1 11 2404110 +PAN HD M/C SCREW M4*10, DG‐100B [螺丝] M4*10 COAT YELLOW EA 208 4

1 12 3100024 WHEEL GUARD ASSY,DG‐125E [砂轮罩组件] 125mm,EN新规 EA 208 1

1 13 3111920 CONTROLLER ASSY DG18BL‐100S [控制器组件] 18V,5.0A EA 201 1

1 14 2405430 +PAN HD M/C S and SW M4*12, DG‐850B [螺丝] 螺丝头样式变更型 M4*12 
BLACK

EA 208 4



1 15 2400248 +FLAT HD TAP SCREW M2*5 [螺丝] M2*5 EA 208 2

1 16 2400140
+PAN HD TAP M4*23 ARGENT [+PAN HD TAP M4*23 
ARGENT]

M4*23 ARGENT (DG‐750B) EA 208 4

1 17 2417218 NEEDLE BEARING,DG‐100A [滚针轴承] HK0709B 东吴轴承 EA 208 1

1 18 2403047 HEX NUT, DG‐100B [螺母] M6 镀彩锌 TYPE2 EA 208 1

1 19 2024344 PINION, DG‐100A [小齿轮]
M=1.15 Z=11 
M6 加工品丰立

EA 208 1

1 20 2050065 PLATE,DG‐850 [防尘垫片] STS304,φ17.5*t0.2 EA 208 1

1 21 2417989
BALL BEARING 608 2RS LFB,DG‐850B [球轴承 608 2RS 
LFB DG‐850B]

608 2RS H2012‐284/C2‐8 
LFB

EA 208 1

1 22 2040019 BEARING COVER DG‐850 [轴承盖] ALDC EA 208 1

1 23 3006029 ROTOR ASSY,DG18BL‐100S [转子组件] ‐ EA 208 1

1 24 2417431 BALL BEARING 696 2RS,DG18BL‐100S [轴承696] ‐ EA 208 1

1 25 2110259 SWITCH ROD,DG‐1800L [开关杆] ‐ EA 201 1

1 26 2008168 SWITCHASSY [开关组件] FPB JIABEN EA 208 1

1 27 2110745 HOUSING(L,BROWN),DG18BL‐100S [机壳 棕色] 18V 100MM EA 208 1

1 28 2070192 DUST COVER(L),DG18BL‐100S [防尘罩（左）] NBR EA 208 1

1 29 2070158 RUBBER DAMPER‐M,(NBR,HS70),MC18BL [橡胶阻尼器] ‐ EA 201 2

1 30 2024343 GEAR,DG‐100A [大齿轮] M=1.15 Z=39,加工品,丰立 EA 208 1

1 31 2412409 O‐RING(C), DGJ‐100K [O型圈(C)] φ45.4截径φ0.75 NBR EA 208 1

1 32 2050628 BEARING COVER(B), DG‐100B [轴承盖(B)] SPCC 三孔 EA 208 1

1 33 2040015 PACKING GLAND,ACT‐100M [密封盖] 欧标EN新规,加工,涂装SI
LVER

EA 208 1

1 34 2417991
BALL BEARING 6001 2RS LFB,DG‐850 [球轴承 6001 2RS 
LFB DG‐850]

6001 2RS H2012‐2/C11‐25 
LFB

EA 208 1

1 35 2054410 FRINGER, DG‐100H [边缘罩] SCP1 PRESS EA 208 1

1 36 2201429 WHEEL WASHER(D14,D22.2) DG‐180FB [砂轮垫圈] ID14 SMF4040 10T EA 208 1



1 37 2036724 WHEEL NUT,DG‐180FB [外凸缘螺母] M14*2.0,D22.2,CCC EA 208 1

1 38 2023133 SPINDLE, DG‐125 [主轴] M14*2.0 EA 208 1

1 40 2110690 FAN GUIDE,DG18BL‐100S [导风圈] PP+GF30Percent(BLACK) EA 208 1

1
41,4
2

3010088 S/T ASSY,DG18BL‐100S [定子组件] ‐ EA 208 1

1 45 2075138 RUBBER DAMPER，DIW‐1801L [橡胶阻尼垫] NBR EA 208 1

1 46 7910136 NAME PLATE(EU),DG18BL‐125S [铭牌标贴] 18V 125MM EA 208 1

1 61 L000125
BATTERY PACK ASSY DG18BL（KEM） 18V,5.0Ah CHE 
[电量显示电池包组件 18V 5 0Ah]

18V,5.0Ah, CHECK (KEM) EA 248 2

1 63 3050386 PLASTIC KIT ASSY(BROWN) DG18BL‐125S [塑盒] 18V 125MM EA 208 1

1 64 3150168 HS CHARGER ASSY, ID18BL [高速充电器] 6.5A, EUROPE,BLACK EA 208 1

1 65 2131611 SIDE HANDLE, DGJ‐100K [侧手柄] M8*25 PA6+GF33Percent EA 208 1 

1 66 2061513 WRENCH, DG‐851 [双牙扳手] 组合件 EA 208 1

1 67 7740637 INSTRUCTION MANUAL DG18BL‐125S [说明书] 18V 125MM EA 208 1






